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Munsell System Y,,=100, Mex

X,=96,79,Y,,~100,00Z,~111,46 B,

C=2,V=1,2,5,8&9, Mex X=0,3140y,,=0,3243 110 _ ¥§%
c5r15roomat|<:|ty x.y) Ao=(ag-[30,n*30 atap,y]) Y — V=5
) — v=1 Bo=(bo=[bo,n*bo,a*bo,v]) Y — V=8
— g = a0 [x/Y] +
— bo = byo 214
ay=1, by=-04 [’
t t @ 5 b
n = Mex -10 ‘ k j 10
a =apy(Y/Y1g-1] M
5% 3 y=a2v( i ) | 0/016 -0,011]
395¢,E B, y=by(Y/Y1g-1) 1 0,014 -0.010
8y=-0,017,byy=0,012 0,003 -0,002
29 4=0,018,by,5=-0,013 ~0,0220,016
CIE 1931 X Munsell System Y,,=100, Mex
T C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0.4 0,6 0,8 1.0 chromatic value (Ag, Bo)
CE790-1A 6 CE790-2A 6
X,=96,79,Y,,=100,00Z,~111,46 B, Xu=96,79Y,,=100,00Z,~11146 B,

,3140y,,=0,3243 +10 - ﬁ% Xy=0,3140y,,=0,3243 T10 — ﬁ%
Ar=(ar=[ay ntag atag y]) Y — V=5 Ar=(ag—[ag ntaz atapv]) Y — V=5
By=(b1=[by,ntby atby v]) Y — V=8 Bo=(by=[b b atbp v]) Y — V=8
a1 =ay [(x-0,171)/y] A a =ay [(x-0,171)/y] dL
by =byo[2/4] ;=50 [(MpyX+hp)/y]
a=1,byp=-04 ay=1 by=-04
mp=1,000bp=0471 /) A 016009120389 (1 A
e o 77 B U S TS =

= Y/Yqg-1 ex = Y/Y1g~1] ex

a,y=2y( =3 ) 0,012 —0,007 2a,y=2av( 5 ) 0,012 -0,007|
by, y=oy(Y/Y151) . 0,011 -0,007 by y=bpy(Y/Y1-1) L 0011 -0,007
apy=-0,013,,=0,008 0,002 -0,001 ay=-0,013b,y=0,008 0,002 -0,001
a; 4=0,014,b; 5=-0,008 ~0,0170,010 ap 4=0,014 b, x=-0,008 ~0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chromatic value (A, B;) chromatic value (A,, B)

CE790-3A 6 CE790-4A 6
X,=96,79Y,,=100,00Z,~11146 B, Xu=96,79Y,,=100,00Z,~11146 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% X=0,3140y,,=0,3243 T10 — ﬁ%
Ag=(ag~[ag ntag atagyl) Y — V=5 Ag=(ag-[ag ntay atay vl) Y — V=5
B3=(bg=[b3,rtbs atbs v]) Y — v=8 B4=(b4=[04,rtbs, atba v]) Y — V=8

ag = ay [(x—0,171/y] 40
b=y [(Mpx+bp1)/y]
ay=1,byp=-04
le=—0,974,bm=0,Gl58 '

L) A

ay = a0 [(x-0,179] 1
b=y [(Mpyx+hp)/y]

ay=1, by=-04
mpi=-0,169050389

n = Mex 10 ' Lg ' 10 n = Mex 10 - ' 10
2 y=apy(YV15-1) Mexo 012 -0,007 2,y=apy(YI¥1571) Mexo 012 -0,007,
b3 v=boy(Y/Y15-1) 1 0011 -0.007 by y=boy(Y/Y1g-1) 1 0011 -0.007
apy=-0,013,,=0,008 0,002 -0,001 ay=-0,013b,y=0,008 0,002 -0,001
ag 5=0,014,b3 4=-0,008 -0,0170,010 ay,4=0,014,b, o=-0,008 -0,017 0,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chromatic value (A3, Ba) chromatic value (A4, By)

CE790-5A_6 CE790-6A_6
X=96,79.Y,,=100,007,711146 B, X,=96,79,Y,,=100,007,7111,46 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% x=0,3140y,,=0,3243 T10 — ﬁ%
As=(as—[as ntas atas y]) Y — v=5 As=(ag—[35 n*3 atasy]) Y — v=5
Bg=(b5[bs ntbs atbs v]) Y — v=8 Bg=(06~[be, i+, at+bg 1) Y — V=8
a5=a,,{(+0,861x-0,719/-0,026)¥] 1 ag=a,{x/y] -
bs=bo,{(+0,19%+0,386/-0,240)§] be=byy [(Mp1x+bp)/y]
8,=1,00,b,,=1,00 \ 29,=1,00,b,=-0,40 / \
Ag,G.v,R=475,503,574,494¢E nn) D , ALS Mp1=-0,974 by,=0,658 ] @\ ) n
n = Mex 1 L\ ' 10 n = Mex ~10 ) &ﬂ / 10

= — = — X

aS.Y_aZY(Y/Yls 1) 0,012 ~0,007 a\s.‘{_azv(Y/Ym 1) 0,015 0,005
b5 v=boy(Y/Y1-1) 0011 0,007 bg, y=bay(Y/Y1g-1) 0014 -0.005
apy=-0,013,,=0,008 0,002 -0,001 ay=0,016,b,y=0,006 0,003 -0,001
a5 5=0,014,b5 4=-0,008 -0,0170,010 ap,4=0,018,b o=-0,006 -0,0210,008

Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex T-10
chromatic value (A, Bs)

Munsell System Y,,=100, Mex

C=2,V=1,2,5,8 &9, Mex T-10

chromatic value (Ag, Bg)

CE790-7A_6

CE790-7N

TUB-test chart CE79X, y), chromatic valuesA;, B;), chroma A*;, B*;), adaptation: 5A#0, 5Y#0

CE790-8A_6

o
O—10

Y M C
oS 52 525 MEnseII_System Y,=100, Xy=96,79,Y,,=100,00,7,,=111,46 B*u -
0.8 TF M,..C=2, V—_l,' 2,5,8&9, Mex %y=0,3140y,,=0,3243 +10 _ V;Z
oL CUEIELLY () *O:(aO_[aO.n+aO.A+aO.Y])Y18(Y/Y18)1g — V=5
: — va1 B*g=(bo~[bo,n*bo,a+bo,v]) Y1(Y/Y19) — V=8
— = a9 = ag [x/y] +
—_ = bo = bao [2A) .
- =1, byp=-04 /fw A*
n = Mex -10 ' i ' 10
N 3,y=2(YV1571) =P 0016 -0011
7A95c,E bo,v=bz(/Y15-1) T 0014 -0010
ayy=-0,017p,,=0,012 0,003 0,002
a9 4=0,018,b5 4=-0,013 -0,0220,016
CIE 1931 X Munsell System Y,,=100,
i C=2,V=1,2,5,8&9, Mex T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
CE791-1A 6 CE791-2A_6
X,=96,79,Y,,=100,00Z,~111,46 B* , X,=96,79,Y,,=100,00Z,~111,46 B*,
Xy=0,3140y,,=0,3243 +10 — ﬁ% %y=0,3140y,,=0,3243 +10 - ﬁ%
A*1=(31‘[31,n+31,A+31,v])Y18(Y/Y13)1;3 — V=5 A*2:(a2_[aZ.n+a2.A+aZ.Y])Y18(Y/Y18)1;3 — V=5
*1=(by=[by tby by v) Yae(Y/Y19) /3 — V=8 B* 5= (D5 [z, +bp, A*b2 v Yae(Y/ Y1) /3 — V=8
3y = a0 [(x-0,1791y] 4 ay = a [(x-0,1790y] 4L
by = by [2/4] i b=z [(Mp1x+bpy)/y]
ay=1, by=-04 /ﬁ A* =1, by=-04 A*
m71=1,000,by,=0,171 : ) : it Mp1=-0,169,bp,=0,389 = )2
n = Mex -10 . 10 n = Mex -10 = ) 10
=a,(Y/Y1g~1, =ay(Y/Y1g~1
?'Y_EZYEYIYlS_l; 0,012 -0,007 2;‘( 2§V(Y/Y13_1; 0,012 -0,007
1,Y~P2y 18 0,011 -0,007 s V( 18 0,011 -0,007
a2y=—0,013,b2y=0,008 0,002 -0,001 azy=—0,013,b2y=0,008 0,002 -0,001
al'A=O'014,b1'A=—O,008 -0,017 0,010 a21A=0,014,b2,A=—0,008 -0,017 0,010
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*, B*,) chroma (A*, B*5)
CE791-3A 6 CE791-4A_6
X,=96,79,Y,,=100,00Z,~111,46 B*, X,=96,79Y,,=100,00Z,~111,46 B*
Xy=0,3140y,,=0,3243 +10 — ﬁ% %w=0,3140y,,=0,3243 +10 - ﬁ%
A*3:(33_[33,n+a3,A+a3,Y])Y18(Y/Y18)5§ — V=5 *4:(a4_[a4.n+a4.A+a4.Y])Y18(Y/Yla)1g — V=5
* 37(b3=[l03 03 AtD3 v]) Y15(Y/Y19) — V=8 B* 4=(b4=[bs,n*bs a+ba v]) Y15(Y/Y15) — V=8
a3 = a0 [(x-0,172/y] 4 ay = a [(x-0,179/y] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a=1,by=-04 * 30=1, by =-0,4 *
Mpi=-0,074by=0658 . 7) . A mp=-0,160bp20389 N . AN
} t t > f t - t >
n = Mex -10 @ / 10 n = Mex -10 (= 10
ag y=a(Y/Y1g-1) Mex ay,y=agy(Y/Y1g-1) Mex
ba y=boy(Y/Y1g-1) 0,012 -0,007 bzy(Y/Y =0 0,012 -0,007
Y2y 18 41 0,011 -0,007 v 18 1 0,011 -0,007
25,~-0,013 b,,=0,008 0,002 -0,001 85,=-0,013 b,,=0,008 0,002 -0,001
ag A=0,014,b5 4=-0,008 -0,0170,010 a4 A=0,014 b 5=-0,008 ~0,0170,010
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
chroma (A*3, B*3) chroma (A*4, B*4)
CE791-5A_6 CE791-6A_6
X,=96,79,Y,,=100,00Z,~111,46 B*, X,=96,79Y,,=100,00Z,~111,46 B*
Xy=0,3140y,,=0,3243 T10 — ﬁ% %y=0,3140y,,=0,3243 +10 - ﬁ%
*5:(35_[35,n+35,A+aS,Y])Y18(Y/Y18)1;g — /=5 *6:(36_[aﬁ.n+aﬁ.A+aﬁ.Y])Y18(Y/Yla)1;2 — v=5
B*5=(bs5~[bs +bs Atbs v]) Y1g(Y/Y19) — V=8 B*6=(bg=[b6,n*bs,A*bg,v]) Y15(Y/Y15) — V=8
a5=a,,{(0,861x-0,719-0,026)¥] g = agy [x/y] +
bs=by,[(0,199+0,386/-0,240)4] D=, [(Mpx+bp1)/y]
a,=1,00,b,=1,00 | " a,=1,00,b,=-0,40 | .
Moy r=475503578a0acEnm (T A's mp=-097an=0858 Ty Ao
n = Mex -10 K_j% 10 n = Mex -10 [/ 10
3, y=2(YIY151) 0,012 0,007 % y=2(Y1571) 0,015 -0,005
b5 v=b5,(Y/Y1g-1) ' ' be,y=boy(Y/Y1g-1) . .
Y2y 18 0,011 -0,007 6,Y 18 0,014 -0,005
a2y=—0,013,b2y=0,008 0,002 -0,001 azy=—0,016,b2y=0,006 0,003 -0,001
a5,4=0,014,b5 4=-0,008 ~0,0170,010 ap,4=0,018 b5 4=-0,006 ~0,0210,008
Munsell System Y,,=100, Munsell System Y,,=100,
C=2,V=1,2,5,8&9, Mex T-10 C=2,V=1, 2,5,8 &9, Mex T-10
chroma (A*g, B*g) chroma (A*g, B*¢)
CE791-7A_6 CE791-7N CE791-8A 6
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Munsell Chroma2, Value=1,2,5,8 &9; experimental illuminant M (X, Y)vex=(0,3140, 0,3244)
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